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State Eligibility Test — 2017

Geography

(Final Answer Key)

Part-A

Which of the following process is responsible for
weathering of rocks in the Karst region?

Scree formation
Carbonation
Oxidation

Hydration

Which one of the following is a glacial valley
submerged in sea?

Ria
Fiord
Tarn

Drumlin

According to Concept of 'cycle of erosion'of W.M. Davis
maximum relief is an indication of-

End of youthful stage
End of matured stage
Old stage

Rejuvenation
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The landscapes produced by a single dominant

Q.No: 4 geomorphic process are called as -
A Monocycle landscapes

B Compound landscapes

C Simple landscapes

D Multicyclic landscapes

Q.No: 5 Which erosional agent forms Zeugen?

River
B Glacier
C Wind
D Underground water
Q.No: 6 Flat topped steep sided upland cropped by resistant
T rock layer normally formed in arid land called
A Erg
B Questa
C Mesa
D Escarpment
Match List I and List II and select the correct answer
from the code given below
List | List Il
(Local wind) (Area)
Q.No: 7 2)Loo 1) Rocky mountain
b) Khamsin  2)Alps mountain
€) Chinook 3) Rajasthan Desert
d)Fohn 4) Egypt
A a-1, b-2, c-3, d-4
B a-3, b-4, c-1, d-2

Cc a-3, b-4, c-2, d-1
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.No: 8

.No: 9

a-4, b-3, c-2, d-1

Cirrus clouds are found at about the height of
0 - 1.5Km

1.5 - 3Km

4 - 6Km

6 - 20Km

Area of 'Wiley -Wiley' is

China sea

Carriben sea

North - West Australian coast

Gulf of Mexico

-4, -3, #-2, 9-1

TETT AY FITHIT FATg W I AT §
0-1.5 .7

1.5-3 f&.#

4-6 .4

6-20 f&.#

‘TaeN-faeh ' Fr T ¥

e AP

Ffage anr
Sead-afRes smeeferar ae
AfFws i @

No: 10 which of the latitude receives the maximum amount of e 37aTier X @EITOE SEETT STod BT & ?

.No: 11

Insolation ?

Tropic of cancer
40° latitudes
Equator

Arctic circle

'‘Blood Rain' is associated with which of the following?
Misral

Sirocco

Tramontana

Gregale
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Q.No: 12
A

Q.No: 13

Q.No: 14
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Q.No: 15

Submarine canyons are found on
Continental shelf

Continental slope

Deep sea plains

Oceanic deeps

Which of the following current is different from the
other three on the basis of their oceans ?

Canary current
Benguela current
Alutian Current

Labrador current

Which one the following is not a reason of salinity in
20° - 40° latitudes?

Atmospheric humidity
High temperature
High evaporation

Heavy rainfall

Which one of the following sea has the highest
salinity?

Red sea
Mediterranean sea
Caspian sea

Dead sea
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Q.No: 16 Terrarosa is -

A

.No: 17

.No: 18

.No: 19

Grass
Soil
Fish

Coffee

The book 'Locational Analysis in Human Geography '
was authored by

W. Bunge
R. Hartshorn
D. Harvey

P.Hagget

Who is the author of the book 'The pulse of Asia'?
David Harvey

R.]J. Johnston

B.]J.L.Berry

E.Huntington

Who is the author of book 'Geography of Puranas'?
Bechan Dubey

Ram Lochan Singh

S.M. Ali

Moonis Raza

Q.No: 20 Who among the following elaborated the concept of
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.No: 21

.No: 22

.No: 23

'Ecology'?
Tansley
D.Harvey
R.Hartshorne

G.Taylor

Who coined the term 'Cosmography' and divided it
into uranography and geography?

0.Peschel
C.Ritter
B.Vareneous

A.Humboldt

'Principle of least effort', related to human migration is

propounded by?
Stouffer
Rivenstein
Weber

Zipf

Net population change is/are determined by which of

the following. Select correct answer from the code -
a. Mortality

b. Migration

c. Fertility

d. Immigration

Code:

b and c
aandc

aandd
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D aandb () 3R (&) gamr

3mg-fefar ffAs w1 3R faega 3K o dehot eafaf@a

The base of Age - Sex pyramid is broad and apex is

Q.No: 24 narrow, are in which of the following Countries ? FopacaFgar g ?
A Developed countries R g &

B Developing countries Repraelier ot &

C Under - developed countries ey Aefa sy &

D None of these are correct g ot ATy T a8

TIYUH Shog T2l g T TAT T2H forgey fmar

Q.No: 25 Who used the word 'central place' for the first time?

A M.Jafferson TH.SEET

B W.Christaller oo, fohFeret

C Vidal de la Blache IS 3t AT seTer

D R.E.Dickinson IR. §. BfreaeT

Q.No: 26 Which of the following sets does not match? fArfaf@d & Hie a1 oo gafad =€ &
Eskimos - Canada TRRFAT — HATST

B Oran - Sweden RIS - FisT

C Pygmy - Pampas Rt - g

D Negro - Africa A — 3rhreRT

What is the sequence of urban development stages E é.a;a AR e fare & TR H FH
according to Levis Mumford? Select the correct answer fAFAfaf@d & & &l a1 § T 3 Eltg_c'@ Ejﬁ

Q.No: 27 Zr%l’gnghe code - (1) wiferE
2. Eopolis (2) g3iaferd
3. Megalopolis (3) Ao
4. Metropolis (4)

A 2143 2143

8 1234 1234



Q.No: 28

Q.No: 29

Q.No: 30

Q.No: 31

3421
4321

Classification of States is presented by -
Moodie

Mc Williams

Goblet

Carlson

Which of the following is the leading cotton textile
producing region of U.S.A?

New England region
California
Great lakes region

Mid Atlantic coastal region

'Resources are not , they become', who said it?
W.Zimmerman

T.Palender

Von Thuenen

A. Weber

Who of the indian geographer developed the method

to measure agricultural efficiency?

S.S.Bhatia
R.L.Singh
S.P.Chatterjee

Inayat Ahmed

3421
4321
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Q.No: 32 Busiest ocean route of the world is- oo &1 saEcas qaar A §

A Indian ocean g AgENIR

B North-Atlantic ocean 3cddl AT AFHRR

C South-Atlantic ocean gfaroflt et g

D Pacific ocean YTl AFTHIER

Q.No: 33 Propounder of 'Rimland Theory' is- Rereivs Rgia & wfaues &
A H.J.Mackinder .3 #AfResR

B N.J.Spykman TA.S. TIEHAT

C Monkhouse Alewe3H

D R.Hartshorne . greamn=

If an aeroplane is doing photography at an average gfe Ueh gaTs STeTel BRIge ¥ 1500 HieX & 3ii|a 395 & v

. height of 1500 meters from the ground with a camera $AY & orIiE e B o
Q.No: 34 having 150 mm focal length. The scale of photographs il | wE o 150 A g A

will be ST T ATIF g
A 1:1000 1:1000
B 1:10,000 1:10,000
C 1:1,00,000 1:1,00,000
D 1:100 1:100
Q.No: 35 The 'Hertland Theory' explains 'TCT-TUl fAgia’ cITedT T §
A Inter - province relationship Hed:YTT FFae HY
B Centre - state relationship Fog - GFaY FHY
C Struggle between land power and sea power R Tad aHgfaa & T gad F

D Classification of states T4t & geffavor #t
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.No: 36

.No: 37

.No: 38

.No: 39

Which one of the following criteria is not Considered
as a base for the classification of human races?

Skin colour
Size and shape of nose
Size of ear

Hair structure

In remote sensing, the strong chlorophyll absorption
band lies in which of the following wave length?

0.45 - 0.67 *m
0.30 - 0.38 *m
0.12-0.28 *m
0.72-1.30 *m

Which one of the following is not a direct aim of
regional planning?

Economic growth
Removal of regional imbalances
Employment generation

Environmental management

Who Presented the philosophical basis of regional
planning?

Burton Mae Kaye
Fedric Le Play
F S Chapin

Carol Aronovinci
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0.45 - 0.67 "m

0.30 - 0.38 'm

0.12-0.28 "m

0.72-1.30 "m

fArAfaf@d 7 & i a1 v TR A &1 egst 38T

e §

e R

& I eaere gt
AR Gl

(3

9ATaRoT JaereT

eI et @1 arelfaren MR fraer s R |

TSI HAF
53w ot o

o T AT
Frer s



T 1 (Taegd des) 1 @l 11 (i) @ gafad fifse

Match List I (power plants) with List II (location) and
ist I (power p ) with Li ( ion) qAT T e FT TIA FT F DT

select correct answer from the code-

sl Lt I ot | (fcad Few) o 1 @)
(power plants) (location) a (ldeg ) 14 (

Q.No: 40  a. Korba 1.Bihar T. SRl 1 fagR
b.Kohalgao 2.Chattisgarh dl. Fgernd 2 Bod 999G
c.Barkeshhwar 3.Maharashtra a1 SNPTR 3 HERISC
d.Dabhol 4.West Bengal ’

3. S98id 4 ufeaHY demer

A a-1,b-2,c-3,d-4 v-1,d-2,-3,9- 4

B a-2,b-1,c-4,d-3 v-2,d-1,d1-4,91- 3

C a-3,b-2c-1,d-4 w-3,f1-2,#-1,9- 4

D a-4,b-3,c-2d-1 w-4,§1-3,-2,9- 1

) 'Progressive wave theory' of the origin of tides was SIART-$TET &Y 3cafed & TFaer & 'gamme oo fgid’ gfqufea

Q.No: 41
propounded by RgT I

A A.W.Whewell gecl, Eedol

B Issac Netwon Folw 7T

C R.A.Harris IR.TRE

D G.B.Airy s ol

HRT $1 rafaf@a gerfeal & feufa & 3R W 3caw @
Select the correct code for the sequence of the STRIOT Y 31X A T FEY he T T HITSTT
following hills of India from North to South on the 1 5 °
basis of their location Ly

Q.No: 42 1. Anaimudi 2 ety
2. Nilgiri 3 mERT
3. Mahadeo -

4. Coorg 43
He:

A 4,231 4,2,3,1

B 4, 3,2,1 4, 3,2,1

C 3,4,2,1 3,4,2,1

D 3,4,1,2 3,4,1,2



Q.No: 43

Q.No: 44

Q.No: 45

Q.No: 46

Which one of the following types of volcanic eruption

is not usually explosive?
Pelean type
Strombolian type
Vulcanian type

Hawaiian type

Which one of the following desert is famous for its
deposits of nitrates?

Kalahari
Gobi
Atacama

Sahara

'Valley of Flowers' is situated in which of the following

mountain range?

Garhwal Himalaya
Kumaon Himalaya
Kashmir Himalaya

Kailash Himalaya

Which one of the following regions has the highest
proportion of agricultural land under irrigation?

Punjab - Haryana Plain
Rajasthan - Gujarat Plain
West Bengal - Delta region

Uttar Pradesh - Bihar Plain
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Q.No:

47

Q.No: 48

Q.No: 49
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Q.No: 50

If the variability of rainfall is to be measured, which of
the following techniques will be used?

Mean deviation
Standard deviation
Coefficient of variation

Interquartile range

Land-use Data is best represented by which one of the
following method -

Dot method
Isopleth
Choropleth

Pie diagram

The different height and depth zones of the
lithosphere and the hydrosphere plotted against the
datum line is represented by -

Altimetric curve
Hypsographic curve
Clinographic curve

Ogive curve

Which of the following values of correlation coefficient
(r) is not correctly matched degree of relationship?

+0.99 -High correlation
+0.50Moderate correlation
-0.01 very low correlation

-0.99 Nil relation

gfe T i aIRIITMNTar T AT FH&T §,ar Feaf@a J 8
ERGEGIEE IR R ICIRE D IR ILE)

ATET Qe

HIA-3uANeT 3Hiehsr 1 gt 8 Peafaf@a & @ wafqas faf
¥

faeg fafer
HHATT 1@

FotAT fRAfer
T NG

TAAAVSH T AT FATS TAUT TAHUSH HI IETS & &1F i
TER dd & 3W-aATd R a1 JaRid T SITar § -

IFedAfes a%
Reardifrs aw
FeATgAINTNS TH
3NET TF

WEHFSE 0TI () I el AT AT TE AT Feaer Aofy
TET &

+ 0.99 3T FgHFIY

+ 0.50 WA HgaFae

- 0.01 ag?rﬁlﬁramﬁr

- 0.99 & wgaFa=y



Q.No: 1

Q.No: 2

Q.No: 3

Part-B

Paternoster lakes are main features of which one of the
following areas?

Lava plains
Piedmonts
Deserts

Glacial stairway

Match List | (books) with List I {Authors) and Select answer fromthe code.

List | List Il

(Book) (Author)
3. Geomorphology 1. Wooldrige and morgan
b. Essaysin Geomorphology 2. strahler
¢ Physical Geography 3. Lobeck

d. AnOQutline of Geography 4, Dury

d-3, b-4 ,c-2 ,d-1
a-1, b-4 ,c-2 ,d-3
a-3, b-2,c-4 ,d-1

a-4, b-3 ,c-2 ,d-1

In which year World Trade Organization came into
existence ?

1994
1995
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Q.No: 6

Q.No: 7

1997
1999

Crescent shape depositional landforms in Arid zone is
called

Hammada
Barkhan
Seif

Drass

According to Wegner in which Era, division of Pangea
got started ?

Permian
Cretaceous
Carboniferous

Pleistocene

"The present is the key to the past"
This statement relates to whom of the following?

W.M.Davis
James Hutton
Von Ritchthofen

W.Penck

Which of the following is not correct?
Cold front is marked with triangular spikes.

Warm front is marked with semi circles

A fast advancing warm front can cause violent
lifting

1997
1999
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Q.No: 10

Q.No: 11

The tornados develop along squall line

Bsh climate region in Koppen system of climate
classification stands for which of the followings?

Tropical Humid/Round the year precipitation

Temperate Humid/Round the year precipitation

Tropical desert climate/annual average of
temperature more than 18°C

Tropical steppe climate/mean annual
temperature above 18°C

Which of the following is the source region for the
formation of Air Masses?

Equatorial Forest
Himalaya Mountain
Siberian Plateau

Deccan Plateau

The atmosphere gets heated by which one of the
following means?

Direct rays of the Sun
Volcanic Activity
Burning of Organic material

Radiation from the Earth

Winter rainfall in North-Western part of India is mainly

due to

Western disturbance

North-East Monsoon
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Q.No: 12

Q.No: 13

Q.No: 14

A

B
C
D

Q.No: 15

North-West Monsoon

Pseudo Monsoon

In which of the following Carpenter ridge is situated?
In Pacific Ocean

In Atlantic Ocean

In Gulf of Mexico

In Indian Ocean

Consider the following statements and select the
correct answer from the code

Assertion(A): Oceanic salinity is low in the equatorial
region

Reason(R): Heavy rainfall, cloudliness and high
humidity are the characteristics of equatorial regions
Code:

Both 'A' and 'R' are true and 'R’ is the correct
explanation of 'A’

Both 'A' and 'R' are true and 'R' is not the correct
explanation of 'A’

'A' is true, but 'R’ is false

'A' is false, but 'R’ is true

The average temperature of the surface of water of
ocean on equator is

22°C

15.5°C
26.7°C
18.6°C

Match List I with List II and select correct answer from
the code :-

Foe - g AT

YTBeoel HITHeT

fArafaf@d # & fFa AGPR A HRU Few afeud § ?
Tl AFHRR

Y AFEPR H

AfFae fr g F

g AgraPR &

o a1 st o R RIS e S R 9T e &
3R FT T HITAT |

FU (V) - SFCIYT 87 H AGAPIRIY 0T HA gl ¢ |
FROT (AR)- o1 I, AuTeoTeT AR I 3nEar v 3if0war
AT &1 T ATy ¥ |

e

LY

TIR IR AN TT LT IAT IR, TR T A=A § |

T 3R IR AT T ¢ qUT WG AT, T A ALY SATEAT AL 8 |

THT ¢ WG IR I T |

T HET ¥ AR AT §

AGITIRIT STl T TAg T 3 dTIAT g & -
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Q.No: 16

Q.No: 17

Q.No: 18

List | List II
(a) Coral reef 1. Organic ocean deposits
(b) Shoal 2. Steep flat surface
(C) Abyssal plain 3. Step descent fromthe shelf bed

(d). Continental slope 4. Detached elevation with shallow depth

a-2,b-3,c-1,d-4
a-4,b-1,c-3,d-2
a-3,b-2,c-4,d-1

a-1,b-4,c-2,d-3

Which of the following place in India was setup as the
first bird-sanctuary?

Vedanthangal
Kundremukh
Bannarghata

Keoladeo

In which of the following period the domestication of
plants and animals was started?

Paleolithic
Mesolithic
Neolithic

Pre-Paleolithic

All the ecosystems taken together in a geographical
area form a bigger unit called-

Community

Territory

T | el
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%-2,@-3,7-1 ,9-4
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#-1,@-4 -2 ,9-3
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Q.No: 19

Q.No: 20

Q.No: 21

Biome

Habitat

Who of the following was the first geographer to
ascertain the length of the equator?

Eratosthenese
Herodotus
Anaximander

Thales

Consider the following statement and select correct
answer from the code:

Assertion(A): The major thrust of Quantitative
Revolution is to bring law-making, model building and
theorization in Geography.

Reason(R): After the second world war, young
geographers discarded the empirical, descriptive and
gazettear type of geography by using the
mathematical language rather than the language of
literature.

Both 'A' and 'R' are true and 'R’ is the correct
explanation of 'A’

Both 'A' and 'R’ are true and 'R' is not the correct
explanation of 'A’

'A' is true, but 'R’ is false

'A' is false, but 'R' is true

Match List I with List II and select correct answer from
the code :-

AL Y Fars AR e aren frafaf@d & & gas
${aNeld el ShieT AT ?

YT
e

AT @ Y=l R fFaR AT T4 Fe F FE 3ccr giaw
|
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fa#ToT |, g fAATT 3R RAgidieor #t T g |

FROT (AR) - Ay favage & a1e , a1 $faiel deci3it
THST H AT & JHeToTiaesh fAaRoncess 3R Tfea ghR &
$[3MeT T WIfgc T $TST T cITIT T IMOTAG TN T 3TITIT
Rar S |
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o

TR IR FH e du IR, v A Fd sarEa # |

T 3R IR A WE R W IR, T T ;T AR
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T ITEd ¢ NG AR R R |

A | @ A | @ AT AT | > FEY 3eal A e
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Match List | with List Il and select correct answer from the code :-

List1 List Il
(Author) (Book)
(a) Otto Schluter 1. Political Geography
(b) VonRichthofen 2. Das Ausland
(C) Oscar Peschel 3. Majorwork on china
(d). Fried rich Ratzel 4. Visible content of the landscape
code:

a-4, b-1, c-2, d-3
a-4, b-3, c-2, d-1
a-3, b-4, c-1, d-2

a-2, b-1, c-4, d-3

Match List I with List II and select correct answer from
the code :-

List | (Propounder ) List lI{Philosophy of Geography)
(a) Gibson 1. Idealism

(b) Guelke 2. Realism

(C) Peet 3. Behavioralism

(d) Wright and kirk 4. Radiealism

a-1, 2-2 ,c-3 ,d-4
a-1, b-2 ,c-4 ,d-3
a-2, b-1,c-4 ,d-3

a-2, b-1,c-3 ,d-4

Who proposed the concept of Areal Differentiation?
Jean Brunhes
Hartshorne

D.M.Smith

| (e
3 3 R
g did Rt
q AR T
g Py o

Elg_c‘,' :

%-4 , @-1,7-2 ,°9-3
%-4,9-3,7-2 ,9-1
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%-2,@-1,7-4 ,9-3

ol ()

e

2 9 3Eelvs

3 Ao I 3T TRl

4 fofireet see 3w ) dvseha

T | @ A 1| @ GATAT R | TUT FEY Sk AT e

a Hifgw |
ol |
(ST )

g {5¢ aur e
%-1,@-2,7-3 ,9-4
%-1,@-2,7-4 ,9-3
F-2,T-1,7-4 ,9-3

%-2,@-1,7-3 ,9-4

el

(s 227)

1 FEia

2 ARG

3 TIGERAG

4 A IRaAH arg

& R_ffeTar $ir 3raemen o gfawfea $r

AT =7

N

2.u. Ry



Q.No: 24

Q.No: 25

0O W >

W)

Q.No: 26

H.S.Barrows

The concept of primate city was propounded by ?
Jefferson

Zipf

Mumford

Carl Sauer

Match List I with List II and select correct answer from
the code :-

List | (Book) List I1{Author)
(a) Perspectives on the nature of Geography 1.D.Harvey

(b) The Urban Question 2. P.Hagget

(C) Social Justice and the City 3. R.Hartshorne
(d) Locational Analysis in Human Geography 4.M.Castells

a-4, b-1, c-2d-3
a-3, b-4, c-1 d-4
a-1, b-2, c-3, d-4

a-2, b-3, c-4, d-1

Consider the following statements and select the
correct answer from the code.

Assertion(A): Losch's model is less restrictive than
christaller's

Reason(R): Losch treated each function as having a
separate range, threshold and hexagonal hinterland
Code:

Both 'A' and 'R' are true and 'R' is the correct
explanation of 'A’

g, . RS

Flel T

T | @ A 1| @ GATAT R | TUT FEY Sk A e

¥ HifaT |
ol | Gl
(3%) (ee)

. THUCed % € R 1% §ed w1 S e
@. T ¥ wE 2 1 e

T. Fd oed T8 T e 3 IR EEUH
U, %9 T 37 g S 4 T DG

%-4,89-1,7-2 ,9-3
%-3,9-4,7-1 ,9-2
%-1,9-2,7-3 ,9-4

%-2,@-3,7-4 9-1

fAFafafld wusr W faar RIS q2ur JE 3car 1 989+ He
 fFfaw |

ATAFYT (T) - FhEeTor & ATSeT FI 3T oITeT T ATS e
gfaeeTcas® & |

FUT (3R) - AT FAF F HT GIF W 777/ AR
AT 3R ofrer SehoNT qe Fer AT ¢ |

Fc

Y

TR R g quTam, v A adrsarear # |

Both 'A’ and 'R’ are true and 'R’ is not the correct T 3R 3R ¥ ¥ § W IR, T H Tt SAEAT L1 ¢ |



Q.No: 27

Q.No: 28

Q.No: 29

Q.No: 30

explanation of 'A’
'A' is true, but 'R’ is false

'A' is false, but 'R' is true

Which one of the following pairs is not correctly
matched?

E W Burgess -
Concept of Megalopolis

W.J.Reily - Law of Retail Gravitation

(Scholar) G.K.zZiff - (Concept)
Rank - size Rule

Patrick Geddes - Concept of conurbation

Spatial distribution pattern of rural settlements can be
best observed on which of the following maps?

Wall maps
Cadastral maps
Geological maps

Topographical maps

Process of population deconcentration away from large
urban settlements to non-metropolitan areas is
termed as-

Urba Dispersal

Urban Sprawl

Counter Urbanization

Sub-Urbanization

Which one of the following stages of demographic
transition model predicts a high birth, but a-low death
rate?

T HeT § W N AT &

TIHHA NI IR A E |

fefaf@d goat & & #lar a1 @gr gafoa =g g ?
§ secg W - AT FT FFUROT

goc I Yell - e Twcarwyor F s

. &. O - FIRIHR FEw

RF AT - TR $ qurRen

reior IAFRT & TAfAE AT wfaw F1 g9d 3=
3Tcliehe] AFTa@a § @ fFg ARy & o ST gar g ?

@fea A=l
T AT
safds AT

CRCCRECD

T3 IR HTAATHT ¥ T TAHEAT & Fashealantor T gfshar &
IR AR &5t # g Fgelar ¥ -

T e
T e

sfaaerdaor
SYAITNIFHIOT

STeTifehehlal HhHUT HIgeT Sl hisl AN HGEUT 'TT ol W
et Fegex ' &1 qaTeTATT Rl § ?



Q.No: 31

Q.No: 32

Q.No: 33

Q.No: 34

First stage
Second Stage
Third Stage

Late Second Stage

The gravity principle on identification of nodal regions,
states that the interaction between two geographic
points is directly related to

Their masses
Their distance
Their mode of transport

Their size of settlements

Which of the following theories emphasis the policy
oriented concepts such as propulsive firms, leading
industries and agglomeration?

Central place theory
Theory of Industrial location
Growth Pole Theory

Theory of spatial Organization

The techniques usually employed for actual delineation
functional regions are -

Flow and gravitational analysis
Simple correlation analysis
Composite index method analysis

Ranking co-efficient method analysis

Which one of the following is not plantation agriculture

agell 3rawuT
g@dt araeyr
el sraer
3calT gfafad JraedT

AT el Y Tgare i A Thca [Agid adrar & & ar
senfore fegait & o 3id: frar deh wafta §

3% Fl Gard {
A gl &

3% IRaed & qUT §
3% HOTH F JIFER F

fArfaf@d & @ @l a1 Reid AT seqe sauromsit Sa
& e B9, 3rremeT 3T 3R FHLIEROT W I ST § ?

FeirT vud g
seaifars safeufa 1 R
s g Rgia
Fuifas weree &1 R

FRATHS YT F IrEdfas iHATRT & ToIT HieT &Y deheilepl T
ATATEITAT /4T f/AT ST § ?

YaTe YT JecarHyor faeeryor
I gday faearwor

T gawe i RAeeor
e aorF ggfer RAeervor

Rrfafad # & Sl o @ R 78 ¥ 2



Q.No: 35
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Q.No: 36

Tea production
Coffee production
Rubber production

Cotton Production

Consider the following statements and select the
correct answer from the code given below.

1. Most of the fishing grounds occur in areas of ocean
deeps where the continental shelf is wide

2. Fishing activity is well developed in warm tropical
waters

3. Mixing of warm and cold currents brings plant
nutrients for fish

4. Inland fisheries are more significant than other
types in India

Code:

1and 2
1and3
2,3 and 4
1,2and 3

Consider the following statements and select the
correct answer from the code given

below.

Assertion (A): There are regional disparities in spatial
organization of economy.

Reason(R): Interactions among inherent factors in
economic activities affect the texture of spatial
organization .

Code:

Both 'A' and 'R' are true and 'R' is the correct
explanation of 'A’

Both 'A' and 'R' are true and 'R' is not the correct
explanation of 'A’

'A' is true, but 'R’ is false

'A' is false, but 'R' is true
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FgaT ScuTee
erdrico)

CRIGREICT
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Q.No: 37

Q.No: 38

Q.No: 39

Q.No: 40

Match List I with List II and select correct answer from
the code :-

List | (Location) List li{Industry)

(a) Detroit 1.Iron and steel

(b) Yokahama 2. Synthetic Rubber
(C) Akron 3. Ship building

(d) Glasgow 4. Automobile

a-2, b-1, c-3, d-4
a-4, b-3, c-2, d-1
a-3, b-2, c-1, d-4

a-1, b-2, c-3, d-4

Which one of the following ports has been developed
on a lagoon?

Chennai
Mumbai
Kochi

Visakhapatnam

The essential feature of shifting cultivation is
Rotation of Crops

Rotational of Farms

Mono Culture

Use of plenty of fertilizers

When the raw material used in an industry is Mixed
and ubiquitous, the location of the firm will be-

T | @ g 1| FATT PIST TAUT HEY I’ A TIA He H
EAIE LY
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Near the sources of raw material

Anywhere between the source of raw material
and market

Near the market

Near the capital city

Under which of the following equations a pair of aerial
photograph is not consider as a stereo pair for 3D
vision under a stereo scope?

No overlapping
25% overlapping
60% overlapping

20% overlapping

Consider the following statements select the correct
answer from the code.

Code:
1. Another name of black soil is Regur Soil

2. saline soil also known as Usar Soil
1
2

Both 1 and 2

None of these are correct

Who of the following is not associated with political
Geography?

F. Ratzel
I.Bowman

R.J. Johnston

TGS BT A 3eer Feud gram
Fed AT & TG & FHT

Fed AT & TG q6R & T ey ot

IR & AT
YT SR & g
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H.J.Makinder

'Syntaxial band' is the feature of which one of the
following mountains?

Vindhyans
Aravallis
Satpuras

Himalayas

Organic Theory of state was propounded by whom of
the following.?

Mackinder
Ratzel
Haushofer

Isaih Bawman

The Heartland Theory explains-

Inter-province relationship

Central-state relationship

Struggle between land power and sea power

Classification of states

Concept of ‘Cultural Landscape’ was promoted by
whom of the followings?

Ratzel
Anne Buttimer

Carl Sauer

. oF . JAfFesT

feAfaf@d # & e gdd s@en 1 a1is [d=gr9 'Syntaxial
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Q.No: 50

Wilbur Zelinsky

Consider the following statement and select the
correct answer from the code

Assertion(A): Urbanization is defining phenomenon
of twentieth century and the developing countries
were at the focus of this transformation

Reason(R): The urban migration from rural happened
in the last few decades largely due to rapid mega
cities growth in the developing countries.

Code:

Both A and R are true and R is the correct
explanation of A

Both A and R are true, but R is not the correct
explanation of A

A is true, but R is false

A is false, but R is true

Who among following geographers has defined
geography of public finance who gets what, where and
what cost?

R.J. Chorley
David Harvey
P.Claval

R.J Bennett

Match the List-I with List — II and select correct
answer from the code -

o Sfaehr
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Q.No: 53

abcd a
4321 4
abcd a
4231 4
abcd a
3412 3
abcd a
2341 2

Assertion (A): Each climatic type produces its own
characteristics assemblage of lands forms.

Reason (R) : Climate varies from region to region.
Code:

Both A and R are true and R is correct
explanation of A

Both A and R are true but R is not correct
explanation of A

A is true but R is false

A is false but R is true

In India preparation of sub-plans on regional basis
was taken up in which of the plan period?

4™ plan
5" plan
6" plan

7t plan

Who among the following presented a frame work of
economic regions of different orders following the
soviet concept of economic regions and production
specialization?

P.Sen Gupta

R.P. Mishra

S.P. Chatterjee
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Q.No: 55

Q.No: 56

Bhatt and Prakasha Rao

Which of the following project is considered as a basic
point of regional planning?

Tennessee Valley Project
Danodar Valley Project
Thames River Project

Hoover Dam Project

Consider the following statements and select correct
answer from the code-

Assertion (A): Divergent plate margins cause sea
floor spreading.

Reason (R): Constructive plate margins result is
formation of fault.

Code:

Both A and R are the true and R is correct
explanation of A

Both A and R are true but R is not correct
explanation of A

A is true but R is false

A is false but R is true

According to Hufschmidt, bring out the chronological
sequence in the main phases development of regional
planning during last 100 years of history.

1. Cultural regionalision orientation

2. Metropolitan orientation

3. Natural resource orientation

4. Regional science orientation
Code:

T TG Y1 9
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ga¥ Y aRASEr

T FYr 1 AR ST TAT FET ek FT 9T F 1
< F ST

FYT (T): HERIATS ST TEOT HYHART Tole HAT & GaRT gldm
&

FRUT (3R : TATcHS Tolc YIAT T TRUMH AT & FATT &

FTABAE
S
(v) 3R (3R) = w7 ¥ 3 (3R), (T) & 7 T @

(v) 3R (IR) A T R, WY (IN), (T) $ 7 sar€ar
&t Far &

(T) ¥ &, Reg (IR) 3T &

(T) 30T §, Weq (IN) T ¢

eI fasteT & ool 100 af & sfder & 3 A &
HEY TR FT FHlAlelsh AR 3efhe §HIRAC & AR TAST

1 HiEpia Feerare e
2 AR JHRAGA
3 vrpfae TaTSe AT

4 g e ifeEdr



o O wm >

3241 3241
1342 1342
4132 4132
3142 3142

.No: 57 Which one of the following matches in not correct? fAetfaf@d & & Sier a1 goa wéY 76T &

Himadri - Greater Himalayas fRAT-geeR fewTerT
Shiwalik - Outer Himalayas s - aga RaATeT
Western Ghat - Peninsular India gfRegsaTe - yrEddRr SR
Gondwanaland - Lesser Himalayas TMusaTAT A -og AT

T -1 8 I -11 AT AT 3N FE 3R $7 T Fe &
Match List- I with List - II and select correct answer  ffyo
from the code.

List-I{Dam) List-lI{River) l-i(s1) el ()
No: 55 |2 Tehvibam ety T 1. 3om
. GandhiSagar . Krishna TR 9T
c. NagarjunaSagar 3. Bhagirathi dl i 2 %
d. TulbulProject 4, Chambal il Gi AR 3. Refl
. Tdgd wRaE 4. T
abcd abcd
3412 3412
abcd abcd
3421 3421
abcd abcd
2341 2341
abcd abcd
1234 1234

About 3/4th of managnrese ore reserves of India are

.No: 59 HRA H HTireT 3TATF T STTHT dieT THATS T ITAT AT &

found in -
Orissa, Madhya Pradesh, Maharashtra, Goa 39T, ACYYSY, AGRISS Mar &
Karnataka, Orissa, Madhya Pradesh, Feled, SET, AEITE ,HERTSE 3

Maharashtra
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.No: 61

.No: 62

.No: 63

Karnataka, Madhya Pradesh, Goa, Andhra
Pradesh

Madhya Pradesh, Maharashtra, Andhra Pradesh,
Jharkhand

Regarding Ranchi plateau which of the following
statements is true.

Real Peneplain
Early Peneplain
Fossil Peneplain

Uplifted Peneplain

The number of agro-climatic regions of India as per
planning commission is

12
13
14
15

Which of the following atomic power stations is located

in Tamil Nadu?

Tarapur
Kota
Kalpakkam

Narora

Which of the following states in India has highest
percentage of cultivated land to its total area

Uttar Pradesh
Haryana

Kerala

FeATesd, AETYae, Mar A=uver F

ACYYSY ,FERISET, AU , HARWUS &

T UoR & Feaf F Peafai@d # O &l 1 37 I &

arEafas TR AereT
R g A
ShareE A AT
sfeua gaw A=

TISTAT HTINT & HTAR, R H HIY STorarg FeoT i FEr §
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feafaf@a & i &1 RA] ot Feg Afeg 7 3EfeudT §
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1 wfaerd gaifae §

ELGEL A
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HIT



Q.No: 64

Q.No: 65

Q.No: 66

Q.No: 67

Assam

Tropic of cancer does not pass in which of the
following states of India.

Manipur
Madhya Pradesh
Gujarat

Tripura

Red CIliff line is located in between which of the
following two countries -

India - Afghanistan
India - Myanmar
India - Pakistan

India - China

Which of the following is a GIS operation

Image displaying
Contrast stretching
Map overlaying

Map designing

Which of the following cartographic method is
generally used for representing population density?

Contour line method
Choropleth method

Dot method

T IGT R & fefafad # @ g Tsg I g1 Tor &

Eiraw @ Arafaf@a & & fanet of ¢of & Avy 3aftua g
-3 faEars

HRA-FIAR
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Jsopleth method

According to nearest - neighbor technique, what
would be value for uniform settlement distribution
from the following?

0.2

1.55
2.15
2.88

Which one of the following is a geostationary satellite?

SPOT
IRS
Land sat

INSAT

Karl Pearson’s method is used for calculation of
Correlation

Regression

Mean

Mode

Mean, median and mode coincide if the distribution of
values is -

Negatively Skewed
Normal
Positively Skewed

Poisson

gHAAT ET fafr

fAshe s TSIl dehelieh & 3HTAR THEY A I & forw
Hae Hed frafaf@d & sl giar g

0.2

1.55

2.15
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Q.No: 72

Q.No: 73

Q.No: 74

Match List-I with List-II and select correct from the
code-

List-I(Instrument)
a. GPS
Pantograph
Planimeter
Stereoscope

List-11{Function)
Distance and Area
3-Dvision
Globallocation
Reduction and Enlargement

alo|o

The most appropriate sampling technique to represent
the heterogeneous population of a region is -

Cluster technique
Random technique
Systematic technique

Purposive technique

Which one of the following river valley projects serves
more than one state?

Maurakshi project
Hirakund project
Chambal valley project

Sharaswati project
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Q.No: 75

Consider the following statements and select the
correct answer from the code:

Assertion (A): The Rastar format data structure
provides a greater computational efficiency
Reason(R): The Rastar format data is simple

Code:

Both A and R are true and R is the correct
explanation of A

Both A and R are true, but r is not the correct
explanation of A

A is true, but R is false

A is false, but R is true
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